
THIRD ANGLE PROJECTION

(INFK158) x 1
Customer Instruction Sheet(s)

PA26 x
8" x 10" Polythene Bag, 250G

1
FW021 x16

FN006 x16
M8 st/st A2 Nyloc Nut

M8 ST/ST A2 Form B Washer

FS030 x
M8 x 35mm Square Neck Coach Screw, BZP

8

MS393 x
LadderStow "T" Track Lock Plate, M8

16

FS006 x 2
M6 x 50mm Square Neck Coach Screw

FW001 x
M6 st/st A2 std Washer

2

PS042 x
M6 Moulded Hand Knob

2

PS114 x
Clamp Cowl Infil

8

FS058 x 8
M8 x 25mm Square Neck Coach Screw, BZP

4
Aluminium Bar Clamp Cowl Infil
PS206 x

ITEM NO. PART NUMBER DESCRIPTION Parts/QT
Y.

1 PA26 8" x 10" Polythene Bag, 250G 1
2 [INSTRUCTIONS] Customer Instruction Sheet(s) 1

3 FS030 M8 x 35mm Square Neck Coach 
Screw, BZP 8

4 MS393 LadderStow "T" Track Lock Plate, 
M8 16

5 FW021 M8 ST/ST A2 Form B Washer 16
6 FN006 M8 st/st A2 Nyloc Nut 16

7 FS006 M6 x 50mm Square Neck Coach 
Screw 2

8 PreviewCfg M6 st/st A2 std Washer 2
9 PS042 M6 Moulded Hand Knob 2
10 PS114 Clamp Cowl Infil 8

11 FS058 M8 x 25mm Square Neck Coach 
Screw, BZP 8

12 PS206 Aluminium Bar Clamp Cowl Infil 4

LadderStow Fitting KitFK158 (1of7)
WEIGHT:

-
SHEET SIZE A3 SHEET SCALE:  2:5

DRAWING NO: DESCRIPTION:

MATERIAL SPEC: DEBURR AND BREAK
ALL SHARP EDGES

FINISH:

0.00            0.2
0.0              0.5
ANG          0.5

MATERIAL SIZE:

-

DESIGNED BY:

- 0.75Kg

K. Broadbent
23/02/10

NOTE: This drawing is the property of Rhino Products Ltd and must not be used or copied without written consent. The Rhino Products name and logo must remain clearly visible in any reproduction.

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MM

DERIVED DIMENSIONS SHOWN IN BRACKETS

É

c 0892

ISSUE: DRAWN BY: CRF NO: DESCRIPTION:

-KB

-0907KBd

-0907KBe

1004f JW Added PS206 for KammBar Fitting

CHECKED BY:

DG

DG

DG

KB

DATE:

25/07/13

29/05/14

17/06/14

22/12/14

Frm No:076      Revision: B       Date: 29/10/14

± 
± 
± • 



( x 1 )

( 13mm x 1 )

( x 1 )

( 10mm x 1 )

16

FS030 (M8 x 35) x 8

16

16

MS393 x

FW021 (M8) x FN006 (M8) x

FS006 (M6 x 50) x 2 FW001 (M6) x 2

(PS042) x 2

FS058 (M8 x 25) x 8
PS114 x 8

4PS206 x

( 1:1 )

Manufactured by Rhino Products Ltd in the United Kingdom

FK158_f ( 1 of 6 )LadderStow Fitting Kit

1111
1
11111

1
111

1
111111111111111111 

~ II II I II I 

11 

11 I 1111111

1 

I I I I I I 

I-

□ 
I, 

@ 

@ 
0 

o====~==-~ 



B

A

Manufactured by Rhino Products Ltd in the United Kingdom

FK158_f ( 2 of 6 )LadderStow Fitting Kit

' 
Rhino M odular R ack 

■ Mi ■ 

Rhino Kam mBar 

30-45mm 

! 
+ 30-60mm +I 

g > • 



A
M8 x 35M8 x 25

M8 x 35M8 x 25

M8 x 25

M8 x 25

M8 x 35

Manufactured by Rhino Products Ltd in the United Kingdom

LadderStow Fitting KitFK158_f ( 3 of 6 )

1.a.

3.a. 4.a.

2.a.

5.a.

(x 2) 

(x LI) 

♦••·••♦ ♦••·••♦ 

(x 2) 

(b) 
_/ 

12Nm 

■ -.... 

---♦ 

•••11 



B
M8 x 35M8 x 25

M8 x 35M8 x 25M8 x 35

M8 x 25

M8 x 25

Manufactured by Rhino Products Ltd in the United Kingdom

LadderStow Fitting KitFK158_f ( 4 of 6 )

1.b.

3.b. 4.b.

2.b.

[x 2) 

[x LI) 

[x 2) 

♦••·••♦ ♦••·••♦ 

(a) 
_/ 

"--~ ~ 

"," ~ '" ] 30-45mm 

1.-----.1~ 
30-G0mm 

12Nm 

---..... 

--• ,... 



Manufactured by Rhino Products Ltd in the United Kingdom

LadderStow Fitting KitFK158_f ( 5 of 6 )

6. 7.i. 7.ii.

8. 9. 10.

! 
! .. 
! 
i 

(ti 

B 

12Nm 

~l 
195mm 

L 

-----

r 250mm 7 

- -- -ii ii 
■ ■ 
♦ ♦ 

7 

----------. // ....... ______ __ 

---.. 

~1 ---

----------------
--. 

----.... __ _ 
------. -----....... _____ .. __ ._ 

: i 
I : 
: ' ' . . ..,.. 

C1": 
: I 

~ i 
~@ 

--■ 
■ 
♦ 

1195mml 

l --■ 
■ 250mm 

~ J 

i l 
: I 
! ... 

i~ 
: ' 
~I!! 12Nm 



Manufactured by Rhino Products Ltd in the United Kingdom

LadderStow Fitting KitFK158_f ( 6 of 6 )

11. 12.a. 12.b.

13. 14. 15.

~ ✓ 


	Sheet1
	Drawing View1

	Sheet2
	Drawing View12
	Drawing View21
	Drawing View26

	Sheet3
	Sheet4
	Sheet5
	Sheet6
	Sheet7

